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Student recording sheet            

Write an expression to show the arrangements of flowers in the flower garden.  Write NO if it is not possible to make two or more equal rows.

Sample solutions are indicated below – there are others in some cases.

	4
	2 + 2
	
	15
	5 + 5 + 5

	5
	NO
	
	16
	8 + 8

	6
	3 + 3
	
	17
	NO

	7
	NO
	
	18
	9 + 9

	8
	4 + 4
	
	19
	NO

	9
	3 + 3 + 3
	
	20
	10 + 10

	10
	5 + 5
	
	21
	7 + 7 + 7

	11
	NO
	
	22
	11 + 11

	12
	6 + 6
	
	23
	NO

	13
	NO
	
	24
	12 + 12

	14
	7 + 7
	
	25
	5 + 5 + 5 + 5 + 5


Look at your table.  Which numbers of flowers cannot be arranged in two or more equal rows?  List them below.


5, 7, 11, 13, 17, 19, 23

